

الف) $t_n = kn + 1$

(k از قدر نسبت به دست آمده)

ب) $t_{10} = k \times 10 + 1 = k1$

الف) $S_n = \frac{n}{2} (a_1 + a_n) \rightarrow \frac{10}{2} (4 + k1) = 140$
 $t_n = kn + 1 \rightarrow t_{10} = k0 + 1 = k1$

ب) $k \times 10 = 140 \rightarrow 140 : 10 = 14$

$S_{14} = (4 + 114) \times 14 = 1410$ $S_{14} = (4 + 140) \times 14 = 1414$

$t_{14} = k \times 14 + 1 = 114$

$t_{14} = k \times 14 + 1 = 114$

$1414 - 1410 = 4$

$t_n = (1 - \sqrt{3})n + 2\sqrt{3}$

$d = 2 - (1 + \sqrt{3}) = 1 - \sqrt{3}$

$t_{15} = 2\omega(1 - \sqrt{3}) + 2\sqrt{3} = 2\omega - 2\omega\sqrt{3} + 2\sqrt{3} = 2\omega - 2\sqrt{3}\omega$

$t_{14} = 2\omega(1 - \sqrt{3}) + 2\sqrt{3} = 2\omega - 2\sqrt{3}\omega + 2\sqrt{3} = 2\omega - 2\sqrt{3}\omega$

$t_{15} - t_{14} = 2\omega - 2\sqrt{3}\omega - 2\omega + 2\sqrt{3}\omega = 2 - 2\sqrt{3}$

(می توانستیم از همان ابتدا بگوییم جمله ی ۱۵ ام و ۱۴ ام ۲ واحد از هم دور است)

$* \omega^x = \omega^y \rightarrow \frac{\omega^y + \omega^x}{2} = \omega^x \rightarrow \omega^y + \omega^x = 2\omega^x \rightarrow 2\omega^x - \omega^x = \omega^y \rightarrow \omega^x = \omega^y$

$\rightarrow \omega^{14} \times \omega = \omega^y \rightarrow y_{n+1} = y \rightarrow n=1 \quad y=3 \rightarrow ny = 3 \times 1 = 3$

$\omega^2, \omega^4, \omega^6 \rightarrow 2\omega, 4\omega, 6\omega$

از دنباله ۲
 $x + y = k$
 $y_{n+1} = y \rightarrow y=3, n=1$

$\frac{4n + 14 - k}{2} = 2n - 1 \rightarrow 4n - k = 4n - 2 \rightarrow k = 2 \rightarrow n = \frac{1}{2}$

$t_n = -3, 0, 3 \rightarrow t_n = 3n - 4 \rightarrow t_4 = 3 \times 4 - 4 = 8$

$b_{n-1} = 2, 5, 8$

$a_n = 3, 6, 9$

$t_n = 4n - 1$

$4n - 1 \leq 44$

$4n \leq 45$

$n \leq \frac{45}{4}$

$n \leq 11, 25 \rightarrow$

$n \leq 11, 25 \rightarrow$

$\text{مد } p.p. = 4$

$a_{10} = 2 \times 10 + 3 = 23$

$\Rightarrow 44 < 59$

$b_{10} = 3 \times 10 - 1 = 29$

$a_1 + a_2 + d + a_1 + 4d = 11 \rightarrow 2a_1 + 5d = 11 \rightarrow a_1 + d = \frac{11}{2}$

$a_1 + a_2 + 4d + a_1 + 4d = 10 \rightarrow 2a_1 + 8d = 10 \Rightarrow \begin{cases} 2a_1 + 5d = 11 \\ 2a_1 + 8d = 10 \end{cases} \Rightarrow 3d = 1 \rightarrow d = \frac{1}{3}$

$a_3 - a_2 + a_1 = a_1 + 4d - a_1 - d + a_1 = a_1 + 3d \Rightarrow \frac{a_3 - a_2 + a_1}{a_1} = \frac{a_1 + 3d}{a_1} = \frac{1}{1} = \frac{1}{1}$

$$a - ya + a - d + a + a + d + a + ya = K_0 \rightarrow 5a = K_0 \rightarrow a = 1$$

$$v_{\alpha} - v_{\beta} = 1\omega \rightarrow v_K - q = 1\omega \rightarrow \alpha = \boxed{\mu}$$

$$\gamma, \omega, \lambda, \eta, \dots \rightarrow t_n z \psi_{n-1} \rightarrow t_{10} z \psi_{0-1} = \boxed{\gamma_9}$$

$$\frac{q}{r} (Y_{a1} + (n-1)d)^2 = \frac{p \times q}{r} (Y_{a1} + (n-1)d)$$

$$\frac{q}{\gamma} (\gamma a_1 + \lambda d) = \frac{\gamma v}{\gamma} (\gamma a_1 + \gamma d) \rightarrow q (\gamma a_1 + \lambda d) = \gamma v (\gamma a_1 + \gamma d) \rightarrow \lambda a_1 + v \gamma d = \omega \gamma a_1 + \omega \gamma d$$

$$\rightarrow \mu_4 a_1 = 19d \rightarrow \mu a_1 = d \rightarrow \frac{a_{10}}{a_1} = \frac{a_1 + 19d}{a_1 + 4d} = \frac{a_1 + 19a_1}{a_1 + 19a_1} = \frac{20a_1}{20a_1} = 1$$

$$V-124 \rightarrow 4d2^3\Delta-112VE \rightarrow d2^3F$$

→ 11, 15, 19, 23

$$\rightarrow \psi_1, \dots, \psi_n \rightarrow \frac{\psi_1 - \psi_n}{n+1} = -\omega \rightarrow n+1 \geq \omega \Rightarrow n \geq \kappa \rightarrow \bigcup_{i=1}^n \mathcal{P}_{i, \omega, \kappa}$$

$$\psi_0 - \psi_1 = -1\omega \rightarrow \psi_d = -1\omega \rightarrow d = -\omega$$